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Fill in the blank with the correct
determiner :

What does notice say ?

(1) those

(2) that

(3) some

(4) these

(5) Question not attempted

Fill in the blanks with the correct
prepositions :

I had to show my pass
man the door.

(1) at, at

£2) to, at

(3) to, into

(4) at, with

(6) Question not attempted

the

C{hoose the.correCt antonym fop the
given word :

BENEFIT
A1) Damage

(2) Advantage

43) Vantage

(4) Usage

(6) Question net attempte d

Fill in the blap),

use of the S€quence of t the Correct
He ﬂlwayg ®hseg .

€1) was, t, lose ———hig keys,
(2) does, loaing
(3) has, logeg
(4) is, loaing

(5) Ql-lestiun o
o attehlm--_a

12.°
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9. & A N A wriyy oy
* &7 21-60 Ty 3“? %H,ﬂmmﬁ% 9. Under the SUBHADRA Scheme
TR Y 2024-265 & 2028.99 recently launched in Odisha, all

: % eligible beneficiaries between the
; 5 aul Y srafi ﬂﬁﬂ:ﬁmﬁ‘a‘lﬁ ? b age of 21-60 years will receive what
(1) T 25,000 (2) 55,000 amount over a period of 5 years
(8) ¥ 45,000 (4) % 50,000 between 2024-25 to 2028-29 ?
© (3 45,000 (4) 50,000
10. 2024 T, WA R w0 S gy | (1) Question not attempted
e G ISl TR ﬁ?{ﬂ-ﬁ:{% 7 | 10. AB of 2024, which of the following is
(1) qa Sl 2) Tﬁlﬁﬁﬂﬂ the largest contributor to India’s
3) TRE I 4) dRE \(‘renewable energy capacity ?
(5) s (1) Wind Energy

(2) Hydropower
11. Ryva-wly @ A & e st (3) Biomass Energy

; (4) Solar Ener
e I 9! "'aa[ & fore o ﬂ’@ 9 9(5) Question ngi attempted
SERCEEREEERE A TIE T i

—— | 11./As a dual engine for develdping
Wiaﬁfwﬁﬂﬁ i = \sworld class health-care services and
®7 promoting tourism, recently which
(1) s 3 TSN 2024 policy has been developed by
(2) B AEE 2024 Rajasthan dedicated to promoting
| 3) TR fre medical value travel in the state?
' ’i 4; - L .,(1) Fitness in Rajasthan 2024
B TS 2024 '(2) Healthy Life 2024
(5) AFTRG I i(3) Rajasthan Fit 2024
12 3 ! (4 Healin Rajasthan 2024
. B A A a6 T el § e deE (5) Question not attempted
A AT
A s R | gt wEd | o Recently Finance Minister of India
: Fe launched “NPS Vatsalya Scheme”.
) 3= e % for ferenfRlar =t fen- What is the primary objective of
V] hT LA ST | ' this scheme ? 1
(2) == # @Ry — Teedita 3uE (W(1) To offer education loans to
HT | ||}. students for higher education.
% (2) To provide health insurance
(8) == w=g i 31ed YerHE | 4 for the children. .
(4) wwR-fren afe sfvmas] B O "%8) To develop habit of saving
= % ufsy ol ( %monlg childre;n- A
HATTTTFT AFT b e 4) Tohelp parents and guar
FE | o A A plan for their children's future
5) . financial needs.
I S (5) Question not attempted

nn 3 +
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SN
ARG aﬁ Efcors Hare i ﬁt{ q | 16. Eecer:)t]_y Hon’ble President of India
NAIC RN as been honoured by conferring
W'ﬂﬁﬁ?mﬁﬂﬁ?m% ? the}r highest Civilian Awards by
A TS which of the following countries ?
o o A P
o S B. New Zealand
i 0E C. Timor-Leste
Rl T Hel I Gifora ; Choose the correct answer by using
(1) ¥ B the code :
() Faw ARG (1) OnlyB
2) Onl
e (3) Only Band C
(4) A (4) Only A
(5) TG T (5) Question not attempted
17. Ui et 2094 © Tyl & Fg et | 17. In which weight category, Aman
£l § 3 e Y e 2 Sherawat won bronze medal during
2 S S Paris 2024 Olympics Wrestling
@ 57 f6m. tournament ?
(2) 50T (1) 57kg.
@) 47 N (2) " 50kg.
(3) 47kg.
(4) 53 f&.mm. (4) 53k.g.
(5) I WoA (5) Question not attempted
18. % T3 () el o) Fer 2024 | 18. DAE (Department of At"‘f}f Energy)
N ) _ Conclave 2024 is organised by
F1 A feman T2 - (1) Indian Institute of Science,
(1) wRe fosm e, sirege % 390 Bengaluru
(@ T e ¥, 49 (2) Bhabha Atomic Research
Centre, Mumbai
(3) Nuclear  Fuel Complex,
(3) Ty g afE, BeUETE B G Hyderabad _
(4) T fEm e L] ol (4) National Institute of Science
: Education and Research,
LA, EA7al < ¢ Bhubaneswar
1 (5) et 397 (5) Question not attempted
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14,

15.

gend 1 Fre el T fora i e

ety & e favehed 94 ¢

FH-A: W Wﬁ'ﬁa LY
adfty e sy &g, Siere @
wil= R T R | .

®UT-B: E0S-083 tdig s Sams |

w9 -C: E0S-08 & X &
SRR T 39T fobe 7 |

(1) %% A 91 B 99 § fibg @, C
HEAE |

@) % BT C Wy § fig e A
HAAR |

&) ®%1 A TN C oo # fig o
HEG R |

) 0 1T e e |

() sgwfE g :

8 ot et e 3 i

fﬁ?}m@ﬂrﬂmfzoz«s"wm

(1) FfY 731y
£2) ‘Rﬂa'{ur' 9 g aﬁﬁl’g Tt
(3) qﬁqﬂqﬁﬁmﬁwmﬁﬁm

(4) 9 o e
(®) it o

13.  Consider the following statements
of Earth
Observation Satellite E0S-08 and
choose the correct option regarding it :
It is launched by
SSLV-D3 from Satish Dhawan

14.

15.

GET IT ON
Google Play

regarding launching

Statement - A :

Space Centre, Shriharikota.

Statement - B . EOS-08

two payloads.

Statement-C : X band data

transmission has been used in EOS-

08.

(1) Statement A and B are true
but Statement C is false.

(2) Statement B and C are true
but Statement A is false.

(3) Statement A and C are true
but Statement B is false.

(4) All the three statements are true,

(5) Question not attempted

Which  Central Ministry  has

recently organized the International

WASH Conference 2024 ?

(1) Ministry of Agriculture

(2) Ministry . of Environment,
Forest and Climate Change

(@) Ministry of New and
Renewable Energy

(4)  Ministry of Jaj Shakti

(_5) Question not attempted

?ecenﬂy Department of Space and
echnology }aqs launched “Women

in Space Leadershiy,» <
P pr
whose collaboratioy, ? L

(1)  British Couneij]

(2) Russian Cﬂunci]

(3) German Coungij

(4) American Councﬂ

(5)  Question Not a4 tempiog

P 2

carries

S ————

16. =T

t

(1)

3
(€Y
®)

17. g

@ ¢
2 &
3) 4
4) &
3) 3

18. dtud

nn

T 37T
(GO -
@ 9

(3) v
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(1)

(2)

=
(4)
(5)

&) rfawm$5@m

5
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26.

27.

28.
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Which of the following statement
regarding Parliamentary

mmittees is incorrect ?

Parliamentary Committee
works under the direction of

the Speaker.

(2) Parliamentary Committee
presents . its report to the
House or to the Speaker and

the Secretariat.

(8) Parliamentary Committee
presents its report to the

Prime Minister.

(4) Parliamentary Committee
means a committee which is
appointed or elected by the
I-ﬂ)use or nominated by the

Speaker.
(5) Question not attempted

A motion to impeach a Judge of the
Supreme Court has to be
investigated by a committee

comprising of

(1) Two Judges of the Supreme
Court and one distinguished
Jurist,.

(2) Two Judges of the Supreme
Court and two distinguished

) %‘ﬁﬁi’ti}' % £

(3 ief Justice of the Sy reme
Court, one Judge oil?) the
S_up;-emg., 1Court ~ and one
distinguished .J urist,

(49) One Judge of the Supreme

Court and two distine.
Jurists, gl cuiehdl

(3) Question not attempted

ﬁa)lbha of Par lament since 1952 9

éK hGUJ;r__'.aI:] and Manmohgp,

(2) HD. Deve Gowda

Manmohan Singh and

3) Ind i
(3) Modni‘a Gandhi ang Narep, i
(4) Lal Bahadur Shag

Singh tri anq v.p,

(5) Question not attem Dted

00

_.‘t

29. fa=

30.

31.

32,

33.

00
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24. ¥ % TR SR % sy |

e | Hﬁ% 94, Identify the correct statement
regarding the Election Commission

(1) g7 Ad @ ﬁﬁaaﬁﬁm% of India.

Y Sg-"eefly W‘qﬁ (1) Ehe Cﬂ.l?c?pt of multi.—memb?r
HIRoy Jommission has been in

1990@?111];% | operation since 1990 with
: decision making power by a
(2) WeEt WRg E| T Hfiey - majority vote.
AT ST off | (2) Ramadevi was the only
woman Chief Election
(3) UDdT g&F T AT o o Commissioner in India.
ST i . (8) The President appoints Chief
> IR mlm Election Commissioner and
FHEH U T 71 60 a4 5 g Election Commissioners and
they have tenure of five years
e, Sl i) :
‘Sﬂtlgﬁ‘é, '@?IT%I e or upto the age of 60 years,
| @ W@ w5 L whichever is earlier.
'1 ; : 4) Election Commission of India
is a permanent Constitutional
o5 q, 1952 H dhem Body and it was established
|| in accordance with the
mﬁr@?ﬂ | 1] Constitution on 25t January,
i
o 1952.
5 j s
() 3'§E'IE|W _ M * (6) Question not attempted

25. In which of the following
judgements, the Supreme Court has

25, Fﬁawﬁﬁﬁﬁﬁﬁﬂmﬁ

a1 & o wearaen gfau™ & ‘ﬂT'T‘[ﬁ,% ? | said that the Preamble is not a part
H of the Constitution ?
(1) TiremEhATe S Toed™ Wfi-y. (1) Golaknath V/s. State of
A Rajasthan
I T
(2) =7, W =T A (2) Bharati Chandra Bhavan V/s.

State of Mysore

3)  sFET AT ot
(3) Berubari Case
(4) ww fig @ o O (4) Sajjan Singh V/s. State of
5 Rajasthan
2 L E: (6) Question not attempted
2 o

00
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29,

30.
" 31.
32.

33.

frioies FRt w far
mwm:ﬁ%ﬁaﬁﬁaﬁwm“ﬁ
A SRR el o
B. wqwﬂmmémq ﬁ%%,
. 2 Wtrm%
C. mﬁt{mm% |
RtEysad) Rl
D. THT N TERE Wy g o
Rt vy W
R o
() ASRC (9 B¢
3 C3RD A‘ng
(5) IERA ¥ :
FH ¥ AN TR ?
Q‘[T@Tﬁ e
() S IRAF - i
Q) SUIRIEH - @
3 USRI - =
@ TrdHiFREl - ™
(3) IgTRa T H
e 1 1 e, SR 3 ST 1 A
Feiiea ¥ 3 feg Rt A R € 7
(1) FE=R () MieEst
@) W @ THE
0) Jgaia
A I T G SHIVC :
LR qg?
(1) = =
@ SEEd - gﬂ
U3) =
4) ‘éﬂw — 5 oy
() EERa v
SN S

R a=m:
(1) s52fesd.=1 (2) 48
@) 4sfeifi.=1 (@) 46

(5) gaiaTH=

Al
.

29.

30.

31.

32.

33.

‘Rajasthan is

GET IT ON
Google Play

Consider the following statements

and select the correct answer using

code given below : -

A.  Oriya Plateau is situated just
below the Guru Shikhar.

B. Chhappan Plain is a part of
Banas Basin.

C. Girwa hills are characteristic
feature of Udaipur Basin.

D. Mukandra hills are situated

between Kota and Baran
districts,
Codes :
(1) AandC (2) B,CandD
(8) CandD 4) A BandC

(8) Question not attempted

Which is not a correct match ?
Tributaries River

(1) Ujar and Ahu — Kalisindh

(2) Chap and Jhakam — Mahi

(3) Mej and Sagi — Chambal

(4) Mansi and Khari — Banas

(5) Question not attempted

Copper mines of Kushalgarh,

Senpari and Bhagat ka Baas are
located in which of the following

district ? !
(1) Alwar (2) Bhilwara
(8) Kota (4) Jhunjhunu

(5) Question not attempted

Which is the incorrect pair ?

Breed Livestock
(1) Magra — Sheep
(2) Shekhawati — Goat
(3) Surti — Camel
4) Gir — Cow

(5) Question not attempted

The difference between Ea‘at-Wes}.
and North-South extention ©

y k.m.
(1) 52k.m. (2) 48k
(3) 43 k.. (4) 46 k.m.

(5) Question not attempted i

‘
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19, fefefag el 0o fippl O

fararere wige B 7 |
(2) @A jjrel

(1) =2l
w14

(4) u;,"f?:: (1)
(h) S e

20, wed & afw & il Pran wr wa |"’|f
fivan wd wlafaar oy v fagha o)
L]
(1) e fug o sy v wfogo e
IR ER
(2) @ T fqugl g daer oofy sl #
LEFZNIE o
) @ Y gl o qrep s
gird ?.': yLE #
(4) qu14 fqve gy o) # |
b)  ia gy
3 & 4 w3 ar e i 9 demy )
oAl Eluia 3 7

(1) w2y (2)  wffepgy
@) e, i (4) Torifer

() Al guq

hu?a_?rgd 48 o0 gy A1fere
“ATHL % o % sty 2 (1§ o
@ H) iy dusgy % e Q qlﬁifi?i G100
a1 ) dgayen atttaat £y Sufy i
v b % o

“)  aoy ynfagf

2) =y wattaul

(%) 1R PET T

4y agy yafne

%) parten yuy

St 1 T awin g, oy
0) C6, % gt

) Colh),w 9 e

7 ML % 10 e

“) CoMyf,,) % 0,910

v) e g

19, - .
I whiel of tha following compounds

e funetional proup
(D Butanol
(%) Bulanolo noldl
(D Butnnal
() Butanonae
() Quontion not ntbomptocd

20, Nowton' thivd law of motion stales
It (he nebion and
equal and opposite and
(1) alwnys produce neeelorntiony

of oqual magnitude in each
body,
(2) net on two difforent, bodies
only whon they collide,
(B) act on two different bodies
| under mutual intornction.
E('I) ach on the same body,
“(B)  Question not attempted
il

ronclion are

21, 'Which of the following is a growth
“inhibitor hormone in plants ?
(1)  Cytokining (2) Auxin
(83)  Abscisic Acid (4)  Gibberellin
(b)  Quaonstion not atiempted

22, Which of the following does not

Belong to the category of threatened
”H']wl:'it'ui of plants and animals
velagaifiod  for  the purpose of
Yeonservation by International Union
of Conservation of Nature gand
Natural Resources (IUCN) ?
(1) Vulnamb[:.a Hpecion
(2) Rare specios
() Bxtinet ppecios
) Bndangored species
. 55; Quaention not attompted

248, I. .Whinh of the following weu1q weigh
highest ?
(1) 2 moles of O,

() 2 molow of (;‘ul[!(')'.|
1) 10 molow of H,0
(4) 0.2 molo of niiorome (!

[ Il. i
() Quention not ul.l.tm-",!u “U”)

o

i

00
— A
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(‘I

(4

(6)

25. wal

(1
@)
@
@
)

00
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i,

ab,

46,

87,

o » -*HT”
e Py B faswr v A e

) afisiferar ferr mran 8 7
(1) tE-Nlle un (2)
‘1 4y orlreehYa v (4)
(b)  arqeria we

o T
fi

e o g0 wyaEn g smenf g o
T a0 O e ) e aE R -

(1) wsreees gefeagor

(2) i goddagor

() Feres yidasmo
() o e }
() Srgerfier wosy

A e % fr-w.:r-ﬂ“f:q Mg | &7t Yefer ,
N A frgr qam g 7
A it
B o v
O P w1 R :
D.  squrgy o
B, 31w 6} vasan My
RN CUE P — o .
(1) %am A, B, D, K
(2)  %am Avd ¢
(3) %hae
) %aa A, B, ©

(6)  srgefia woq 0

s A @it & qeg w5 EaREE Ty

? |7mhF{m&;%ﬁﬁmﬂiaiﬁfh%

7

W) il (2)  deimm

@) g (g) ATy, |

() sgortee wyq |
10

4 ey

35,

; 36,
l
|
l

37.

—
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gy aspect of nstitutiona]

U ning ig Prayer-assembly included ?
) Co-scholastic aspect

(2) Physical aspect

(3)  Parental aspect

(4) Educationa] aspect

(5) Questiqn not attempted

The Supervision which ig based
llppn Practice like q told him to do
this’ is :
(1) Creative supervision

(2) Autocratic supervision

(3) Preventive supervision

(4) Inspirational supervision

(5) Question not attempted

Given below are principles of
management. Which principles
were suggested by Henri Fayol ?
Remuneration
Division of labour
Span of Control
Discipline '
. Unity of Command
Choose the correct option from the
codes given below :
Codes :
() A,B,D,E only
(2) A and C only
(3) Conly
4 A, B, Conly
(6)  Question not attempted

The leader divides the work among
the people. This comes under which
function of leadership ?

(1) Executive

(2) Cooperation

(3)  Goal setting

(4) Motivational

(5) Question not att'empted

S owp

3¢

)

40,
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39.

40. T

nn

WHE(SDG)%W%%%
(1) SDG-5 £2) SDG

3 SDG-2 @) gp
(5) NG T G- 4

frefeiea ¥ | D Odg

MR B

() T WS % HEm J
ﬁmﬁiﬁﬁmmﬁ;%?

(b) w%wﬁmaﬁawm
& T ST whan R |

© e Rfea sewwm 1 w
w3 IR A, gew A R
AW IS 1 T & G & TRE
RS GhaT E |

(d) ool et < fem wigd Hek
Fd o I A P I

Hﬁrwwwﬁ%ﬁﬁ@‘%‘ﬂ

I H HIA ¢

e :

(1) e (a) 7 (b) |

(2) FUF (o) AT (D)

(3) YA (a) 9T ()

() Hua (b) a1 (d) M

(5) oTaTa T

(1) e 123 |

38.

39.

' 40.
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Samagra Shiksha Scheme aims tg
ensure quality eduecation with an
equitable and inclugive clagsroom
environment. This aim is as per

which Sustainable Development
Goal (SDG) ?

(1) SDG -5 (2) SDG-3

(3) SDG -2 (4) SDG-4

(6) Question not attempted

Which of the following statement
related to DIKSHA Portal is not
correct 7

(@) Teachers can give online
education to their gtudents
through this portal.

(b) This portal can be used only by
teachers.

(¢) National Digital Infrastructure
can be accessed only after
scanning the QR code given in
their NCERT books.

(d) Text content cannot be stored
and share without internet
connectivity.

Select the correct answer using the

codes given below :

Codes:

(1) Statement (a) and (b)

(2) Statement (c) and (d)

(3) Statement (a) and (c)

(4) Statement (b) and (d)

(5) Question not attempted

What does mean the letter ‘D’ In

«pOSDCORB’ formulae for
Educational Administration gtven
by Luther Gulik ?

(1) Directing

(2) Distribution

(3) Developing

(4y Co-ordinating L
(5) Question not attempte
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42.

43.

41, TSR U qrgaqEe a1 st &9

A G 1 o ¢

(1) 29w, 1973

(2) 01 Had), 1973

(8) 01 5Hadl, 1974

(1) 29 Jawaw, 1973

(6)  Irgeiia vy

Pttt % 3 smogarm + e
RARRIE ik F

(1) SFEET Fem sy
A2)  Forares Rvarr sy
(3) ar&mm?ﬁa‘uqqziﬁamm

12

| 41. Whe

43.
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N did Rajasthan
Boarq formally ¢

(1)
(2)
(3)
(4)

State Textboo];
ame into existence 9

29th December, 1973
(UIE January, 1973
07st January, 1974
29% November, 1973

(5) Question not attempted

« Which of the following is not a

division of the Council of RSCERT?
(1) Mass Communication Services
Division

(2) Teacher Education Division
(3) Planning Management and
Finance Division

(4) Educational Survey, Research

and Policy Perspective
Division

(5) Question not attempted

Rajasthan  State Open  School

provides the facility of selection of

how many Subjects o4 of the

prescribed subjectg in clagg 10th and
12th 7

(1)
(2
(3)
(4)
(5)

00

-
Y

45.

46.

00

Ruaor e § -
£1) 1000
£2) 1200
(3) 200
(4) 100

(5) FigTha


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

ol
of
he
nd

Adda

44.

46.

00

eY

g 3R AP e o e

St e, 2009 4 g 1
qﬁﬁmﬁﬁmmlﬂzﬂmt
ﬁmﬁaﬂ%mﬁlgoﬁaﬁﬁmﬁmgﬁ:
38 fohet ST e fovw iy 5 f
(1) 5 Q) 4

@) 6 @ s

(5) JFITRA IH

T 95

sfafEm 2009 H A FA F

T SRR = S R s 6w
TR '

» TR e dR AheE 9w
T =1 IR ™ 2010

(9) ToRE frges iR afEnl =
oy = Ffereer w2011

(3) T Py IR FEE

Fare =1 arferpr fE 2012 |

(4) Wﬁ:ﬂﬁaﬁimw{

|

|

e &1 St A 2009
(5) I A \
ST afefm § sfered Iaﬂ's'ﬁ
%ﬁ‘mmﬁ@iﬂﬂ@*mgﬁﬂél
MWW%W"@ :
g ae € -
£1) 1000
£2) 1200
(3) 200
(4) 100 |
(5) FETRA A 13

44,

45,

] 46.

According to RTE Act, 2009, Art 19
;md o5 Norms and Standard, if agg
school of class 1 to 5 have 1
students enrolled, how many
teachers will provide ?

(L)i%o @2 4

@ 6 (4) 3

(5) Question not attempted

What is the name of Rule framed by
Govt. of Rajasthan to implement
Right of Children to Free and
Compulsory Education Act 2009 ?

(1) Rajasthan Right of Children
to Free and Compulsory
Education Rules 2010
Rajasthan Right of Children
to Free and Compulsory
Education Rules 2011

Rajasthan Right of Children
to Free and Compulsory
Education Rules 2012

Rajasthan Right of Children
to Free and Compulsory
Education Rules 2009

(5) Question not attempted

@)
(3)

@)

As per norms and standards for a
school, as mentioned in RTE Act,
the instructional hours per
academic year for sixth to eighth
class are
(1) 1000
(2) 1200
(3 200
(4) 100

() Question not attempted

GET IT ON
Google Play
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48.

e 3 @ w7 @ o fere T

i HE 8 7 o =
1) @ T o ETIH .
i 24 iﬁzﬁm aefia faRfde
el 1 e F1 ¢ | =
(2) foremer & ST i AT BT
(8) T F I T @A
I % ITINT B WX T |
(4)  foererm foehms e dam s o

1]
el

Iaht RS e | )

(6) oTRT o]

il

m@éﬂﬁrﬁmﬁmw%m
ﬁﬁaw‘ﬁﬁdﬁmméaﬁq&%—
A Wy

F: :_':-.'j|
) ¥aAaA, Bagip 7]
(2) =@ Bagic

@) aﬁl’ﬁA.B‘ﬂqTC

) F=F Aggrp

()  FmfE gy
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47,

48.

GET IT ON
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Which of the following function ig

ot of  School

Committee gag

Rajasthan ?

(1) To ensure that teachers
perform their duties specified
by or under Section 24

(2) Monitor the working of the
school

(8) Issue and monitor the
utilisation of grants received

(4) Prepare and recommend
school development plan

(6) Question not attempted

In RTE Act, a child belonging to
‘disadvantaged group’ as per state
government meang

A.  An orphan
B. Achild of war widow

C. A child or whose parent or
guardian 18 HIV/Cancer
affected person.

D. A child or whoge parent or
guardian g any disease
affected person.

Choose the correct option from the
following code

Codes :

(1) A, BandD only

(2) BandC only

(8) A,BandC only

(49) Aand B only

(5) Question not attempted

Management
per RTE Act in

e ——————————

49. wrEhfit g
Fraferq 8
(1) 3om
(2) g
(3) @it
(4)  H

(6) arFaft
50. Ffafag o

52, fafafaada=

(1) <hregeimiar
(3) Triy ST

(5) I 9%

00
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49.

50.

51.

52.

eY

SRR ﬂﬁaﬁwf‘”ér&aaﬁaﬁm
ARG 2 7

(1) IS fra s

(2) somRTETE % fRa
(3) wmER & fror

(4) T et 3

(5) FANE Ueq

ﬁw%ﬁaaﬁaaﬁwﬁwﬁ‘iﬁﬁﬁ%w
FATSEIG! TS e Y e 46 off 7
(1) FHHFE

(2) =g et an S
(8) == H o # wm o =} F

qaHE
(4) HISEHEA
(5) DA TH

frafafig & @ F9 A9RE e B F
SR =T & IAE w9 7

) FZIEL AG
(2) TS SH
(3) s EA
(1) Tt o
(5) aﬂﬁﬂﬂm

o 48 A T T A

w7
)y e | (@8 ST

g = @ T
(5) IHaAE =T

Rt d | g

50.

5L

15

3)

i d in
The Jahangir Palace 18 Jocated 1

i 9
which of the following forts
Fort of Ajmer
Fort of Allahabad

Fort of Lahore

(1)
2)
(3)
(4)
(6)

Fort of Agra
.Question not attempted

Hindustan Socialist Republicsfn
Association did not have a role in
which of the following activities ?

(1) Kakori Incident

(2) Throwing a bomb in the
Central Legislature _

Attempt to bomb Irvine’s
train

(4) Saunders Murder
(6))

Question not attempted '

Who among the following was
associated with the Azad Hind Fauz
at its initial stage ?

(1)
(@)
3)
(4)
(5)

Chandrashekhar Azati
Shyamji Krishna Verma
Sachindra Sanyal

Ras Behari Bose

Question not attempted

. Which of the following works was

composed during Gupta period ?
(1) Kavyamimansa

(2) Swapnavasavadatta

(3) Chandra Vyakaran

(4)  Brihatkatha

() Question not attempted

GET IT ON
Google Play
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57.

58.

59.

60.

eY

56. HIESCT H &I HN o 7

(1) St e
2) fapace
(3 9EY

(4) TTIIE
(5) TITE WA

T HIT ) Bl wel T R
1) fisms 2) HvsETE
@ UER (4) HEd
(5) TG I

1857 i shifa & Rremy Rig 3 ufmn
s oft | 57 Fefefea § 2 feg fon
g9 7

(1) TR {2y  HiBTREr

(3) E=t (4) ™9

£5) ARG 99

TSI HTT ST 99H TS Tash FHER-
73 Aefafga da s arar ?

() FwfEm 2 A=

(8) v (4) eArwaft
(5) FaIa I

=1 4 @ = w1 e Ufecate am 4
ST ST 97 7

(1)

(2) Frmgl

(3) mYdeE

W s

(5) TR 9

17

56,

57.

58,

59.

60.

Chief Minister of
Who was zhe
Kanhadd v
(1) JaitaDevra
9).., Vikra™ Dev
:'3) padmana h
4) Devrd Qurthana 1
55) Question not attemp
: h
Where is Rana ganga’s CenotapP
i 9
Chhatri) located ? : 3
El) Chittorgarh (2) Mam.ialgar
@) Erichpur (4) Kalpi
(5) Question not attempted
le in the

Shivnath Singh played a ro
revolution of 1857. He was from

which of the following ‘Thikana’ ?
(1) Gular (2) Kothariya
(3 Salumbar (4) Aasopa

(5). Question not attempted

Which of the following was the first
political newspaper published in
Rajasthani language ?

(1) Agivan (2) Jaidhvani

(3) Jaibhumi (4) Lokvani

() Question not attempted

Wh

"as ko o RagininS il
(D) Rajjil '

(2)
(3)
(4)
(5)

Mathaud ev

Harishchandra

Hestion noy attempted

GET IT ON
Google Play
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53, Which statement is not true about

Sardar Vallabhbhai Patel ?

(1) Sardar Vallabhbhai Patel
rejected any agreement that
would not completely cede
defence and external affair to
the Govt. of India.

(2) He helped to draft an
Instrument of  Accession
which was acceptable to the
princely states.

(8) He was the Constitutional
Advisor to the Governor
General.

(4) He was the Deputy Prime
Minister in the Interim
Government.

(5) Question not attempted

54. Which was explored by
Archaeologist ‘Neelratan Banerjee’?
(1) Ahar  (2) Kalibanga .
(3) Ganeswar (4) Bairath
(5) Question not attempted

55. Read the following statements
about Bipin Chandra Pal :

A. He published a fortnightly
magazine Kaumudi in Bangla.

B. He also served in the editorial
department of the ‘Tribune
published from Lahore.

Choose the correct code :
(1) Only statement ‘B’ is correct.
(2) Neither ‘A’ nor ‘B’ is correct.

(3) Both the
correct.

(4) Only statement ‘A’ is correct.
(5) Question not attempted

statements are

00

56.

57.

58.

59.

60.

(1)
@

(4)
®)

(1)
(3
(5)

1857

=
1) 7
@3 #
£5) 3

a 2
3 v
(B) 2

= &

(1) T
2
3)

(5)
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67. WRatbhto=m it Yo T 67, 100 4 b 4o = moand B b el 70. =
. b, o W1 IR B then Arithmetic Mean of a% b?, ¢% j, .
m"' ( l ) In.‘” (7x
y = {
(1 q ) %F A
m” y .
@ % @ g (1)
’ 2
m- b 'l" S
® ®) g 2)
@ m? (4)  m?
) o S (6) Question not attempted 8)
M - W r - o - (4)
68, NN GRE IS qE1at! o) qifien & 68. The median of the first twelye
a 14 | prime numbers is )
@ 16 (1) 14
@ 17 @) 16 g
@ 138 @ 17 &
(5) SR W (4) 13 >
(6) Question not attempted & dt
69. 1 i
3 ﬁmmgt}wﬁaﬁﬁ%ﬁﬁqaﬂqa 69, ¢ Ths " Follgws D
S | theepet; ;mpg data are related to )
R el . the per day income of 90 persons : (3)
I (X ) i in %) ik
s Eﬁﬂiﬁﬁ@ In_zgfl_ﬁ'_(_lll_i)_ No. of Persons (4)
500 - 9¢ 29 [ 0 —999 (5)
11223 ~ 1499 16 1000 — 1499
000 - 1999
8 1600 —
e 0— 1999 79 (2.4:
=£0- 24000, Y o 2000 — 249 i ‘
e o S =2 | i
| e What is th :
T l.ﬁﬂf]mm aTﬂreﬁ-B) Sl whose per ;al;e'rcentag? of persons '3
(1) 45 ' more ? e 18.2.1,600 of ®
fj) 40 (1) 45
e @ 40 @ |
i’ 50
(3) 60
Ea 3
" (6)  srmfe yox 4) 50 , = [
i _ @ 1
) Question not attempted (5) 3
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15 rd o 16 i ST b T By
A ¥ s w7 s w4 A S
3R 3 Quf) Prsur aren e Wi HT AR |
N 49 §Y 3N et gt Qe &

(1) 883 n Qw2

(2) 369 n A2

8) 874 A

(4) 862 n A2

(6)  IgeiR wvq

wmgﬂmv&a‘rahﬂrvﬁmjﬁk
LR ok 7 R 2 | o ne
ﬁwam%ﬁq‘i'ﬁa’iaﬁﬁww
wﬁmwm%m&ﬂﬁwwi}:
(1) 9k
(2) 12 @
(3) 15
(4) 6ot

(6) e wwm

AFf Rl & @ gon v e amte
TS SR B ST R | s o

Wﬁmmmﬁﬁm‘\fsﬂlﬁb

73.

74.

75.

GET IT ON
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Using the base of a solid cylinder
with height 15 ¢cm and diameter 16
em, a cone is cut having height 4 em
and radius 8 cm. The total surface

area of the remaining solid is
(1) 383 mem?
(2) 3591 cm?
(8) 874 mcm?
(4) 8621 cm?
(6) Question not attempted

Two solid spheres made up of same
metal weigh 1 kg and 7 kg. The
radius of the smaller sphere is 3 cm.
Both the spheres are melted to form
a single big sphere. The diameter of
new sphere is

(1) 9¢m

(2) 12em

(38) 15em

4) 6cm

(®)  Question not attempted

A square shaped hollow tube opened
at both ends is made up of iron. The
side of the interna] Square is of 5 ¢m
and length of the tube is 8 cm. If the
volume of jrop used in the tube is

192 cm3, then the thickness of the
tube 15 -

1) 1cm
@ 15 cm
3) 2cm
4 05 cm

Nn
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(i ¥ I §SOT ax + 2y = 15 Ty
2x + by = 25 %1 el =t e 3,
SE S % T wu e Rt e e

72.

00

eY

e 3(7x + 1)2 - 4(bx - 3)2 = 11(51- ~8)
(7x + 1), i ——= ”+61,(@?f% x ;&‘
FAEE:

1
(1) 3 4

)

(4)
()

e

S ERIGRE

&, 1 (5a + 3b) SR :
1) 4

@ 3

3) 16

4) 5

(5) IFREEA

_(2_43)0.13 % (243)0.07 % (10)0.26
(7){).26 % (49)0.0?5 X (343)0.2

&1 HH

|
|

21

70.

71.

72.

GET IT ON
Google Play

If 3(7x + 1) — 4(6x — 3)? = 11(5¢ - 3y
(7x + 1), then the — ]
(wherex # % — 7]?-] are
1

(1) -3 4

1

o))

1
(© -3,
(6) Question not attempted

The simultaneous equations ax + 2y
= 15 and 2x + by = 25 has unique
solution, where the values of
variables are equal but of opposite
signed, then (5a + 3b) is equal to
(L&A

@ 3

(3) 16

@ 5

(6) Question not attempted

The value of
(2.43)0-13 % (243)997 x (10)°26
(7)9-25 x (49)0975 x (343)0-2

OF

@ (&

@ @) 1/2

4 1
(5)  Question not attempted
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66.

HIE 1 A e Fe1 3 4 W g g »
(1) "R

() dmER

(3) TWEER

(4) wffEr

(5) SEERE v

ﬁq“ﬁﬁﬁﬂmﬁwﬁaﬁw%m
%7 <t ol =t v we ) s
27

T +0—Tx9=1T
(1) +w+

(2)
(&)
4)
(5)

+ T x
+Td x
+ T4 —
SAIRA T

T PR T e 1 A 3
BT HRY HE 8, el Tl 1 TS, W
2zl 1 SEE T & |7 Eghl A A
ey & frg YR gt & 7

(1) @&

(2) @

NE/ B

(4) WS

(5) FETRT T

19

64,

65.

66.

Geptember 18

d day of ’
follow1ng

If the thir
Saturdays
would be the

month ?
(1) gunday

2 Monday

(3) Tuesday

(4) Saturday

(5) Question not attempted

Which of the two signs need to be
interchanged to make the following

mathematical equation correct ?
T+781-TxT=1

(1)
(2
3)
(4)
(%)

+.and +
+ and x
+and x
+.and —

Question not attempted

i::itmhg tcT a girl in a photograph,

i t:s said, “Her mother’s brother
e only son of my paternal

grandfather”, Hoy 18 girl’ -

o el S mother

(1) Sister

(2) Mother

(3) Aunty

(4)

(5)

Niece

Qlle i
Stion not attemntad

GET IT ON
Google Play
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62.

63.
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Which Hf;u.t.ementfﬂ is/are Corregy
about folk God and Goddesgeg 9

(A) They can be approacheq by
devotees more directly with the
faith.

They will be able to intervepq
the most ordinary problemg of
everyday life of devotees.

(B)

(C) Folk Gods and Goddesses ¢,
not teach about persong]
salvation.

Choose the correct answer code ;
(1) Only (A) (2) Only (B)
(3) (A)and (B) (4) (A)and (C)
(56) Question not attempted

Identify the painting style/styles
where the Rasgraj, a literary work of
Matiram, is used as a subject :

(i) Jodhpur

(i) Alwar

(i1) Jaipur
(iv) Bikaner
Choose the correct code :

(1) OnlyGv) (2 @) & (iv)
3) )& (i) (4) Only @)
(5) Question not attempted

Petween whom was the
Gentleman’s Agreement’ signed ?
(1) Jamnalal Bajaj and Jaipur
g Mhame
aribhau  Upadh d
Mahfltma Ganl:lhi A
) Manikya Lal Verma and
ewar Maharaja
(4) Hiralal Shastri and Mirza

Ismail

()  Question not attempted

64.

65.

on

afe fw
18 1

(1) 3
{2 1
(3) 1
4) 3
(5)
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